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At what temperaturs will the rms speed of
oxygen molecules become just sufficient for
escaping from the Farth's atmosphere T
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The volume (Vi of a monatemic gas VArles witl,
its temperature (1), as shown in the graph. Th
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A metallic md of

ma=s per unit length
i# lving horizontally on a smooth
inclined plane which makes an angle of 30° with
the haorizontal. The rod is not allowed te slide
down by flowing a current through it when a
magnetic field of induction 0-25 T is acting on it
in the vertiral direction. The current flowing in

the rod to keep it stationary is

5 kg o
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An inductor 20 mH, a capacitor 100 uF and a
regigtor 50 £2 are connected in series across a
soures of emf, W = 10 gin 314 t. The power EI-'IHHE

the circuit is et
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(Current zensibivity of & moving codl galvanometer
iz 5 divimA and its voltage sensitivity (angualar
deflection per unit voltage applied) is 20 div/V.
The resistance of the gﬂl'-a-ummr:'lr-.-r iz

(1} 400 afe ¥

250 L1 M -3 .
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S

A thin diamagnetic rod is placed wvertically
between the poles of an electromagnet. When the
eurrent in the electromagnet is switehed on, then
the diamegretic rod is pushed up, sut of the
horizontal magnetic field. Hence the rod gains
gravitationn] potential energy. The
required to do this comes from

work

i1} the current souree

(21  the lattice structure of the material of the
riwd

(3] o magnetic field

the (nduced electric Meld
changing magnetic field

due to  the
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Vig = 098 Vop =01 | 1y, 1o 30 1 5 79 &0 voltage V; e 20 V, Ve = 0 and Ve = 0. The

valuea of Iy, I, and i are given by
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10. Taa 4 E'!_"I.[ i) 1 &% g | e v = fEen A sf) 10, In the combination of the following gates the

B T8 4 29 RN = TR 31 O R putput ¥ can be written in terms of inputs A and
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: 1. po Wil 2EE ° T R A g 11, ' In a p-n junction diede, change in temperature
(1) e o (faw) sfee =1 onfaw s d ) S i o
(2)  pen i % wfng w1 sk w8 {1) affects only reverse resistance

s, (21 does not affect resistancs of p-n junction
(3) T wn ufeng = e e R

(3} affects only forward resiztance
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13.

14.

@ Unpolarized light is incdident from afr on a plane

surface of a material of refractive index ', At a
particular angle of incidence 7', it iz found that
the  reflected

perpendicular to each other,

and  refracted rays  are

Which of
foliowing aptions is correct for this situation ?

the

(1}  Reflected Lhght is polarised with its electric
vector parallel to the plane of incidence
£at L. LA
1= 1 | " 5!,"!1".1 =3

LH S

i

2} i=sin"

(3} Reflected light is polarised with its electric
vector  perpendicular to  the
ncidence

plane  of

4) imtanif 1]
L)

[n Young's double slit experimaent the separation
d between the slits is 2 mm, the wavelength A of
the light wsed is 5896 A and distance D between
the sereen and slite ia 100 em. Tt is found that the
angular width of the fringes is 0-20°, To increase
the fringe angular width to -21° (with same A
and 7 the separation betwesn the glits peads to
ke changed to

{1}  1-8 mm d b
(2) 21 mm ﬁ_”_'
Mﬂmm M. l-ur: Tt
_.—-—-'-‘I d 1
(4} 1-7 mm 0.2

An astronomical refracting telescope will have

large angular magnifieation amd high angular

resolution, when it has an l.‘.ﬂ:i- of
——

{1}  =mall focal length and large diameter
(2} large focal length and large diameter
| large focal length and emall diameter

(4} asmall focal length and small diameter
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An electron of mass m with an initial velocity
—B A& z

V =V, i (Vyg=0) enters an electric field
b Y

B = El.l i {Ey =constant > 0} at = 0. If A 18

ita de-Broglies wavelength initially, then its
de-Broghe wavelength at time £ iz
M 0 0 "-'LE
I 14 ek i | N
| mYy
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3] Apil+4 :ﬂu | - _t‘_-— ¢
| LYy 1”""'1 Luﬂ L 'Erﬁ-._‘:’
(4} Ag
For n radioactive material, hall-life is

10 minutes. If mitially there are 600 number o
nuclei, the time taken (in minutes) for the

disintegration of 450 nuclei is
‘)t—r/;:

2y 30
(ay 10
i4) 1b6

The ratio of kinetic energy to the total energy of

an electron in a Bohr orbit of the hydmogen atom,
is

(1 1:1
2 2:-1
‘_i;,f-?""ﬁi.:-l
41 1:-—2

When the hght of frequency 2w, (where v, i3
thresheld frequency), iz incident on a metal
plate, the maxmmum velocity of electrons ematted
iz v;. When the frequency of the incident
radiation is increased to Gy, the maximum
velocity of electrons emitted from the same ptate
i ¥y. The ratio of v, to v, 15

€
“&
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() 41 v 1‘1_ (o 4:1 ive = ' \
(3 1:4 2
(4} 2:1 U—J"g £ ::: l.:‘ % w‘l 2
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{2) 1-389H
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An shject iz placed at a distance of 40 em from a
mn:m-u-._;n_i:.-r_nr af focal lemgth 15 em. If the object
is digplaced through a distance of 20 cm towarda
the mirror, the displacement of the image will he

\
ik N
(2) - 30 ¢m towards the mirror _Y - W e

(1y 30 em away from the mirror

ME e away from the mjrm;r\' R = :'_-._
- .
(4) 36 cm towards the mirror .—},:I*.q; i&

The refractive index of the material of a prism is

J2 and the angle of the prism i= 30°, One of the
two refracting surfaces of the prism is made a
mirrer inwards, by silver costing. A beam of
monachromatic light entering the prism from the
other face will retrace its path (after reflection

from the silvered surface) if its angle of incidence
on the priem is

(1} &0
{4 e
(3} 45°
(4) zero

An em wave is propagating in a medivm with a
velocity _‘: = T'.-’i . The instantansous oscillating
electric field of this em wave is along +y axis,
Then the direction of oecillating magnetic field of
the eém wave will be slong &

(1} - zdirection t R -

(&} - ydirection

_i3 + z direction

4} —=xdirection

The magnetic potential energy stored in a certain

indoctor 15 20 meJ, when the current in the

inductor is 60 mA. This inductor iz of inductan

1) 0138 H ;‘tf‘)’!}ﬁ :’%LH h‘ﬂa
L

(2) 1-388H

(3 123888 H
4 13-89H
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gq  HE A7t Sl whEa o ae, Avieen 8 sl e A battery consists of a variable number ‘n’ of
wdon U= (W on wiEE 2) @ =0 R & % identical cells (having internal registance v
e @ egvea Wk w1 oAre 8 & o ”‘“‘h‘_ Ti'ifp I:": :mfmm'd h--—-—l; .Hﬁe: d Tr:i
it W o % AT wE Y T R T terminale of the battery are short-circuited a
it 8 . the current [ is measured. Which of the graphs
3 Essres shows the correct relationship between Tand n ¥
w1 ﬁ . ==
o i
'|:I| *1 #\ i1 ]
I I o % e
I'EJ t /-/- -"} ¢ 1--- J.
Q —=n {2 T |,/r
0 —1
I
o A q
.
O —=+n a 1| 7
(] —=1
1l
o W :
] I_ i
y L// ! = |
[h] =31 1) /
24, ‘o wHEn s = e, el aes W i Q. —=n
| # dviEm # Ranss (emf), 'E 3 sl
afiie, R Rl & & i § a'—”-:.l' 87 7|94, A setof ‘0’ equal resistors, of value 'R’ each, are
gt [ B 1w ' Wi & e W d g e connected in series to n battery of emf E' and
Frafm it  ffaddan w01 ® internal resistance ‘B, The current drawn is L
T AR G_ Mow, the “n’ resistors are connocted in parallel to
R the same battery, Then the current drawn from
Y — -
AL 30 -1 il . | .} battery becomes 10 L The value of ‘'n' is
(2) 20 _L____._. &/]3;:3
(3 11 {'h.‘l::- I:; {2y 20 l[:‘__,__ M
4 9 ﬂ} @ 11 T
Lol Lol
25, (47 4 4-T) key wiwiry i frel Fr-ufaes w1, 9ETR 4) 9 .
% P, R <ot % 7o 3 & | a4
%ﬁ[ i e sifa fm w1 & | = Wi a5, A parbon resistor of (47 £ 471 kL2 i= (o be marked
it i _ : \ -\1.\, with rings of different coloors for its
(1 o —de - gt - =T W 1 E}M, identification. The colour oxde sequence will be
(21 HET - B0 - ~ FART 1w (1] "|."ir_l|n|_|_-|;. Yollow — Orange = Silver
(9 i — e - - ald o # Yellow - Green — Vialet —Gf-ld
4 B0 - - dE - e 3y Yellow - Vielet — Orange — Silver
(4] Green - Orange - Vielet — Gold
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foft wafm e 1 wim fhh T =1e ) o i
SR TR e & fm fem o &, fomd g v
i T W v e g e e w wen
B 2TC FW AN W oy f WA 20 cm W
73 em T W E HAOTE FIAE =09 B # | TR =i
Ty ot amat 820 He B, A wrg d =l @ 2770 m
M R

(1) 330 mvs
21 350 m E-
(= a0 ms
e
(3 39 mis
(4) 3 m's

s Q & el fagem wuem oigw dwis o 6
I A ATl wrg i afEe & e R

(1 ufﬂ_-ﬁratﬁ%ﬁaﬂqﬂwﬁﬂ?qﬁm|

(2) "EE 9= R gl eiw F s
BT & | :

(3 wigwEnd % @ Fir 36 F Heww g
L N

(4)  wfEEs & 9 gh % e E A

Feie famga-A B R wrd A 2, b, feen @) ae
Frandm = ofter swfaffn wd @ owf Bm
Il 9 wEt b ) Rl sl W Beeem @
Tt #l T = b o g it e s &) ol
& Ty & fore o w1 e o gl o el

Feren T T @\? o
(1) =& T '
(2) 10 YA S TTI ll‘:{-}
(3) B Al @

(4) w®OWw -

i e 0% w6 39 v f ww @ owew f el
W WEd g Wi w8 Amede R W
W e s § 5 m Aol m e s W
W 20 mds B | S w ek #

(1} 2ns
(2} 28
(3 ms
4} 1s
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| 28,

A tuning fork iz used to produce resonance in a
glags tube. The length of the air column in this
tube can be adjusted by a varishle piston. At
room  temperature of 27°C two  euccessive
resonances are produced at 20 cm and 75 cm of
eolumn length, IT the frequency of the tuning fork
is 320 Hz, the velodty of sound in air at 27°C is

(1} 330 m's i
(%) 250 mie g

30 &
(3) 330 mie ;."1&5__.
(4) 300 mis

The electrostatic force between the metal plates
of an isolated parallel plate capacitor C having a
cha 3 and area A, ig

independent of the distance between the
plates.

proportional &0 the sguare root of the
digtanee botweon the Pl“'-r'rF-

L)

(4} linearly proportional to the distance
betwesn the plates,
(4) inversely proportional to the distance

between the plates.

An electron falls from rest through a vertical
distance h in a uniform and vertically upward
directed electrie field E. The direction of electric
field 12 now reversed, keeping its magnitude the
same. A proton is allowed to fall from rest in it
through the same vertical distance h. The time of
fall of the electron, in comparison to the time of
fall of the proton is

(1) smaller
(2} 10 times greater
(3} & times greater

| M{’-—qu'[l]

| 28,

(2 . Bs
\MB

A pendulum @5 hung from the mof of a
sufficiently high building and is moving freely to
and fro like a simple harmonie oscillator. The
acceleration of the bob of the pendulum is
20 m's® at a distance of 5 m from the mean
position. The time period of oscillation is

() 2me
N

4) 1=
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31.

h’ﬂ?ﬁfﬁmmﬁﬂwﬂnﬁﬁrﬂwm'ﬁhﬁﬁ,
}ﬂﬂaﬁmﬂﬁiﬁﬁ?ﬁHMﬁlﬁaﬁgﬂ

e 1w yfafia w fean = &, Frew & 9w
3 4 el o = it S b, @

= Ay
4

v gt fafefm oftm oP R W 8 | o AE B

I1} i
4
{23 Eﬁ
Bl
&
(3} -
3
G o
ah6

2 o weE v % w1 E ol 9 & e ot we
# | uma am ) AR W ATER A i g m
Hil IEE-ER W GTRA A B | 9 99 F A
vea an & e d Al 6 ogig & o &, @ gEt oo
& a4 ol gl A 9l w1 % ow e am A

SR il 7

1y BF
21 4F
i3y 8F
4y F

B v w1 Wi Y T e | fedt v e o
fimar & | T We % W TEN FON Io9A w1 R
e % aifaw (i) @M W oIEw oFEn R o=@
Frerferfiem § @ frme srpraoed B & 9

n
2 T
3
4

T 2 (1018 « 107 Nm?) 3 100°C 7w @
01 g W & T W 100°C Wi | il we
for 54 EET Fem wa S aEvem 5 R IR
TH WY W AWA 1671 cc B, A T@ T W

s =Wt O whEeT 3

(1) 5 X‘
{3 »08-7Jd
(4 B84-5J

an.

a1.

32.

33

The power radiated by a black bedy is P and it
radiates maximuam energy at wavelength, Ly If

hiack body
changed so that it radiates maximom energy at

the temperature of the 5 now

i 2 .
wavelength ia,—,. the power radiated by it

becomea nf. The value of n 18

ﬁ '}‘M. "'7,1

\_',2/6—5& } B
&1

; ape. . I

' T

3 ?*u \
PO & ="z

256 Y
T wiIEHMLuf the same material and
hawve the (&a vl The first wire has

erogs-sectional area A and the second wire has
eroas-sectional area 8A. If the length of the first
wire ig increased by Al on applying a force F,
how much force is needed to stretch the second

by the same amount ¥ e
9F L= 1;35: ”ﬂ
(2} 4F 'P—"?‘L' r
(3) 6F = =
BL. —
4y F ey

A small sphere of radius ' falls from rest in a
viscous liquid. As a result, heat is produeced due
to viscous Torce, The rate of [ heat
when the sphere allains its terminal velocty, is
pmp:m.mnul to

@ e

ME ~Thd

@ r

4 r
A sample of 0-1 g of water at 100°C and normal
preasure (1-013-% 10° Nm ™) requires 54 cal of
heat energy to convert o steam sl 1007, If the
volume of the steam -produced ia 167-1 ec, the

‘P': change in internal energy of the zample, is
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35.

36.

—»
34, fg (2, 0, - 3) W HEW 7 F =4} +5] -6k
fag (2, — 2, — 2) % i@ 3l &
Rl LS

A A M
(1) —8i—4j =Tk :
@ -177-8) -4k A(
A A A S
(8) —43 3-8k
W ~i—4] <8k
ot o1 3 zeaa i @Y T % =A@ < AY 0-001 cm
eI A B W g H | ge e f W
5mm3ﬁT§?ﬁQﬂ'ﬂ'ﬁ"&m¥Eﬂﬂaﬁﬁaﬁﬁ25m
FW 3 | A v 79§ @ 3 - 0004 cm B, A
&1 TA =A™ F
(1) 0-521cm
(2) 0:053 cm
(3) 0525 cm
(4) 0-529 cm
3G BT 0 F fHd faed 3IFa 99 ABC W m

7oA T TS wetieh feEgEn fEud ¥ | 38 9 H gl
T 1 T ‘@’ fem o € | s H 9w W R

r@?{%ﬁ%q 3R 0 % = @ey B %

35.

36.

.9'
= o
= W cosec O YS% to>g c ‘{t\q ¢
(2) a=gcosH %\V\O % X@\“G
- _8 .
3) a= P Y’f\

0z

Mégtanﬂ

aﬁéf@aﬂmmﬁmmmq%ﬁwﬁw
W%E%mﬁmmméﬁﬁw
mnﬁmqﬁlﬁm%mﬁaﬁqE%
FTOT THH AT 0 V6 m/s B S & | I &m
foa-am it femm AR I WA F
mﬁm__n_aﬁxa"téamamnﬁw&ﬁw?ﬁ%l 0
3 YT ¥ o9 Ragel SR F Igd an I e

37.

37.

—> A A A
The moment of the force, F =41 +5j — 6k at
(2, 0, — 3), about the point (2, — 2, — 2), is given by

A A A
(1) -8i-4j-7k -89
A A A Fﬁ""‘“
(20 -7i-8j -4k b
@ -4i-7-8k -1 5
- A A A
(4) -7i-4j) -8k

A student measured the diameter of a small steel
ball using a screw gauge of least count
0-:001 cm. The main scale reading is 5 mm and
2870 of circular scale division coincides with
95 divisions above the reference level. If screw
gauge has a zero error of — 0004 cm, the correct

diameter of the ball is

(1) 0521 cm M @ 4‘\" i
(2) 0-053 cm

3) 0525 cm G'{“ ,&

(4) 0-529 cm

A block of mass m is placed on a smooth™inclined
wedge ABC of inclination 6 as shown in the
figure. The wedge is given an acceleration ‘a’
towards the right. The relation between a and 6
for the block to remain stationary on the wedge

15
rd
A B \ e

-

——0
C B
-

(1) =

cosec 0 @{L % %
(2) a= g cos 0 "

sin E} '
(4) a=gtan®

A toy car with charge q moves on a frictionless
horizontal plane surfac_e' under the influence of a
uniform electric field E . Due to the force qE

its velocity increases from 0 to 6 m/s in one
second duration. At that instant the direction of
the field is reversed. The car continues to move
for two more seconds under the influence of this
field. The average velocity and the average speed
of the toy car between 0 to 3 seconds are

Tt

?% mf. sl respectively 6 = G\-%“
, 4m/s 3 A S (1) 2m/s, 4m/s
(g) 1m/s, 35mis )} /,>” g; s, g-iﬁnﬂs L~
s e {E (4) 15 m S
(4) 1-5m/s, 3m/s Lcon s, s
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98, TEEE m W UE TR R, 4m 390 % 028, A moving block having masz m, collides with

=t fip T | Uy e B | 6ug ¥ TEEE B another etationary bleck having mass 4m. The
i - 3 = 3 . : i .

i % lighter block comes to rest after eollision When
e fm s 4w B | AR T R W

o ’ : the nitial velocity of the highter block ia v, then
B I.._____.Mq-‘t b LEL R R LR (o) &1 W BN the value of eoeffcient of restitution (o) will be

(1) (-G w {1y 05
o W= L——""‘" € % (21 08
s i AT a1 095
L Cl'.ﬂn E:#‘ I-Ij ':. .3-.:!
(4) 04 e 4 (4) 04
49, i W FE e S b 8 wiE 0w ﬂ';rﬁ'-*T A body initially at rest and sliding along a

forw st @ WO aTen wif five, =W AR = D & frictionless track from a height h {(as shown in

et a9 F%dw o d 79 3= hoeh the figure) just completes a vertical circle of
.y diameter AB = D. The height h is equal to

h T B

W

y A \,g“ A
(B =D = 3

2 (1l I

-|:-t"*{"'ﬁ"r - . AT

7 i~ 3 L
(2] D iy I"D i

B @ = N
e & D

]
(4] -1.-.1-: () 5

40. A fv=, A ; (vF 3IW T, B o (U W] AR

. s 40, Three objects, A : (a solid spherel, B : (a thin
a%dl) au C : (1 gen eg), Fed wes W

circular disk) and C : (8 circular ring), each have

| zemE M e B R}, TR R e o § the same mass M and radius R. They all spin
aufify 3T % ofm: am o ® § | R e | with the same angular speed © about their own
| o e R ot T wEwEs s (W) 5 f symmeiry axes. The amounts of work (W)

required to bring them to rest, would satisfy the

L a— -I
Wnﬁ 27 we=P = 3=l relation
¥ We=Wi=W, 1) We>Wp>W,

: R S o Ty
|I I'ﬂ1 WH b ||Ill'l'-|| o “rt: A Mflj'ﬂiﬁ “TH - “IA > W“

v a0
| @Bl Wa>Wp>Wg AT T IR @ W > Wy W
1) W>W.>Wpy i4) W,>We>Wg
| 4 : S 41, Which one of the fllowing estatoments is
41, Frofofts 8 @ s e awer §7 PR
, (1) i T Fd e & wh g g (1} Relling friction is smaller than sliding
(@) im we i i = R e o friction.
@) et odn W dom e sl wfilEw & {21 Frictional force opposes the relative motion.
FAERETaT G B (3} Limiting value of static friction iz directly
() 1l wple e S Fed woed A fam E wEE portional to normal reaction
e E : (47 CoefMicient of sliding friction Thas
| dirmensions af |.t|:l|__"1.il
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42,

43.

44.

45.

L ] mfﬂ*nﬂhilrﬂ?zmﬁ-.:n;-_lzﬁ
T 1R I (K,) & we g afem sl
(K,) |t et @ 1 3% P i (K« K T aEm
Bt
i

8 B EL m—
‘j‘:f}lﬂ-:? r“‘_ 'HE‘
4 2:5
w1 A9 T ga e 8 e wefaf ae 5 i
wed B9 W gfa o B | 58 e = ZeEWH WEE
st ny veh fem § afg 1 awh B ) TR & R
Fferfia | & w5 Wi of frm wf o
(1) wof am
() uefl nfeE wE
(3 AZS s

iy wEm
afz g w1 FEEE lﬂ A1 BT T A [
feawin S d@ 10 70 @, @ el § 8 S
HEl 7@ R Y
(1 = F g uelt o sl 390 8 fibl
(2 g W e S W A R A

wrefl o =S S wiaT w2 oA

qufi wt g’ W & wfiEda 9
% W A e S q e e o o

A, B #ih C w i waid wom: K, Ky 3 Ko #
AC 3 =i & ma o o TRl s w sB faargam 4
wal:‘qtﬁﬁhaa T‘;:J."

4,

43,

44.

A solid sphere is in rolling motion, In rolling
mation @ body possesses transiational kinetic
coergy (hy) as well as rotational kinetic energy
(K simultanesusly. The ratio K : (K, + K, for
the sphere is

(11 7:10
(2 10:7
(4 B6:7
(4 2:5

A solid sphere i rotating freely about its
gymmetry axia in free space. The radius of the
sphere is increased keeping its masz same.
Which of the following physical quamtities would
remain constant for the sphere 7

i1l Angular velocily

(2} Retational kinetic energy
(3 Moment of inertis
(4}  Angular momentum

If the mass of the Sun were ten times smalles
and the universal gravitational constant were
ten times larger in magnitude, which of the
following 1= not corvect ?

(1)  Raindrops will fall faster

12} Time period of a simple pendulum on the
Earth would decrease.

{3} Walking on the ground would become more
difficult,

4] g on the Earth will not change.

The kinetic energies of a planet in an elliptical

orbit about the Sun, at pesitions A, B and C are
H."L‘ HB and Kp respectively, AC is the major
axie and SB is perpendicular o AC at the
pogition of the Sun S as shown in the fipure.
Then

et T ¥
A yAE
"J \.JH
L
{1 hﬁ{hﬂa 1) K, <Kg<Keq
(2} Rp<K,«< T-._r_ (2) Kp<K,<Kq
MKF' > Kn s I"l:'q..'l et H_ll' = .[":H > H.:__
: < ; 3
i4) Kp>K,>Eq 4) Kp>K,>EKp
: CHLAAEE/Page 13 T &Y % T T ) SPACE FOR ROUGH WORK
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46. NH,, H, 0, 701 CO, % fem yrg awa fars
W 417, 0244, 136 v 369 fuw o #

Frferfigs & S fo o=g e @ 2w @ ol
17

(1} NHy
(2) Oy
{3) Hy
4) COy

46, Given van der Waals constant for NH;, H,, 05
and CO, are respectively 4'17, 0v244, 1-36 and
358, which one of the following gases I8 most

easily liquefied 7
Mﬁl&

(2 0y
(3) Hy
(4) COy

47. Frefoften faegdi #1 NaOH w8 HCl %t fm-frm
arart vs smEEel o fprer & amn v @

. 80mL M HCl+ 40l X NaOH
m 10
k. [+1%] 'l'I:IJ.. H[-_-]. + 45 ml :II—D NaUH

['r'[ M

e. 7HmL & HCl+%mL - NaOH™'

<
L

d, 100 mL Iﬂi HC1 + 100 mL ﬂ Ha-L'II-I
10 10

. ptt

47. TFollowing solutioms were prepared by mixing

different volumes of NaOH and HC] of different
contentrations :

M

i G0 mL H HCL + 40t mL ]l'l MalOH

I:l._ 56 mL - -1
/'/'.’E- ml 1;1

oy y

o

100 mL

HL]+-1-LT|L MNallH
HCl + 25 mL F MalH

!|I
HLI + 100 mL I—L MaOH

3 . [ pH of which cne ::ll' them will be equal
i B fEmE pH, 1 % T gm !-”" {,rﬁf S @
L i g o P 2 4 B35 0
(z} d 1_‘_]!“ I'l‘ -5 'Fg = (2} = yud
(3 = ) "

S e e
4 c =~ _i\____._._-l';
48, The solubility of BaS0,; in water is

BaS0, %1 208 K 7 7= & fgmn 242 « 1079 gl
# | v e (K,) 1 79
(Fomy T # BaSO0, %1 OiEW TEIMH = 238 g moll)

(1) 108» 1070 ma? 2

(2 108x 107" mol®L?
3 108x10 2 mo* L2

(4) 108 % 1072 mal® L

49, FafafEn 4 @ w98 M W AT i TEG gEE
fr = 8 7
(1} HEE WA T A i
() 3R i sy e v s o dE W
(1) Fad ;=4 & AW
(4} HEE A F e b w

242 % 107 gL ! at 298 K. The value of its
solubility produoct (K_ ) will be
siven molar mass of BaSl, = 233 g mol™
-
/I}Hxlﬂ 10 mel® L™ :l."-ﬁi-ﬁ}"""
(2} 1-08% 107 mat® L S
(@ 108% 10 mat? LE LS

(4) 108%107° mal® L7
On which of the fllowing properties does the
coagulpting power of an ion depend ¥

The magnitude of the charge on the ion
alone

Both Tl'l?l.ﬁ'-lili-Ll-ldl! and sign of the charge on
the ion

(31 Size of the ion alone

{4) 'The sign of charge on the ion alone

CHLAAEE/Page 14
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B0, ufFmH e W owe § g A =t 4 |1 |60, Considering Ellingham diagram, which of the
A U w1 IEm U?Iqu] F TEE ¥ TR om fullowing metals can be used to reduce alumina 7
wE B 7 (1} Fe
i1} Te u_ﬁ*"’#"-'iﬁ
(2) Mg (%) Zn
(37 Zn (4} Cu
(4} Cu 51 The correct order of atemic radii in group 13

51. Frofafas 4 4 qu 13 % == 4 oonfees Bt = elements is

meats i
T e ad B {1l B<Al<In<Ga<'Tl
(1] BeAl<ln<Ga<Tl (2} B=Ga<Al<Tl<lIn
(2] B=Ga<Al<Tl<In (3 H-::AI{GH-:]L'L::T[
(3) B<Al<Ga<ln<Tl y’ia'.fmmu{m{*w
~ — S | -—-_'_.-._
W ekl |52,  In the structure of CIF;, the number of lone pairs

52 r._u-‘,, i Hﬁ—r._ T A A Ty Tl W e g | of electrons on central atam 'Cl is st
gergTat it s 4 {1 one \

(1) TH {2) four ‘%r- 1!. -

(2) wm 3 two

(3 = i4)  three

) B3, The correct order of H-tarnprun1ds in its
W s g — rd i s = .?-i

T T e — j“;ﬂgg i g o
P . NO, N,, NH,C1 1:&._

(1) HNOg, NO, N,, NH,CI HNO,, NH,C, . NO, N, . '*JNJ, o
(2) HNOg, NH,Cl, NO, N, (a) HNI‘.Id,l':ID NH,CI, N, ——

(3)  HNOy, NO, NH,CI, N, (4) NH,CI, Ny, NO, HNO,

(d) {H,Cl, Ny, MO,

4) NH; g, NO, HNOy ‘.-'i.-h.-.h of the following statements is nof true for

B4, Hﬁ%%ﬂﬁmﬁsﬁaﬁﬁaﬂq-ﬂimmaﬁ = halogens?

20 (1} All form monobasic qxyaeids:
(1) fi vea aim wlwh = e F \_,LQ""' All but Aucrine show positive cxidation
(2) TR F wemm W oTEs Tl aleben
Frawad =i § (4}  All are |'|.r!:i|;|;i:-'ing agents,
(3)  wdl s afisds § (4} i.hl-unm hdwy)e highest electron-gain
o i enthal

(4) == i et o gem e & %

: i i §5. Which one of the following elements is unable to

55. frafefEm 4 @ sha o MF a8 3 e

5 form E‘anL.I fon 7
wod
& A (1] Ga
LL} i .
o P Ms
(31 Al (3 Al
(4] In . (4) In
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a7

fds w1g v e W & wd i Frefafm @

H:eg:nrding eross-linked or network polymers,

H s weE e R 7

(1 i fafim T wmes qEes & de
HEEEE A BA E
(2) Hemme E Hend e g

(#) @ w0 G WEl % UFER A
&= ﬁ |
BT T 'j{geﬂaﬁ § TEE OEOSES AT
wi # |

lah}

ofael AR uee wem g 8 e W

(1) whramys o oftefd % wEEE T g s
e m-Teat o W 'F! |

(2) whmags W aEufEfE 6 ARG wER wEE
m-TEfs WA R

(3) g U wfifEn d wfE e
|:|-E”hﬁn‘:ﬂ - o

i4) weedm (wEw) avemm # ifee tRehfen aee

EFHE R

Pt 4 @ s sl f mEifes a5
prach A i

i1 MgO
(2} BaD
(3y He)
(4) Cal

tfiem vE wfrmnifEe o fatise B

(1) URENEFER T 1 - 4 oW T 1 - 6 0T
E

(2 thEfEEd l sdoaR TN 1 6T R

(3) WEEH 14 odE M1 6 pawa B

(4) TiEE wEE v s 3 ek

23 g s s wa 45 p Al 3w

H,50, 8 G waE 5 et i fem 51 KOH

% Ui zwE © Em W B | STP W w9 70 TR

o1 W (g /) #T

L 5 .
2 2-8
{31 30
(4] 4-4

67.

a8,

A

which of the ellowing statements i2 incorrect 7
(1) They contain covalent bonds between

various linear polymer chains,

(2} Examples are bakelite and me!am:m'_.

{2)  They are formed from bi- and tri-functional
MONOMErS,

(4} They contain strong covalent bonds in their

polymer chains.

Mitration of aniline in strong acidic medium also
gives m-nitroaniline because
i1} In spite of substitnents nitro group always
goes to only m-positian.
{27 In abaence of substituenta nitro group
always goes o m-position.
i3} In electrophilic substitulicn reactions
apmfio groop is meta directive,
[ In acidic (ztrong) medium aniline is present
as anilinium ion
Which of the following oxides iz most acidic in
natug L— .
1) Mg0
(2} Ba(
_13"Be0
4y Cal
@ Thn:\- djﬁlj]i‘["l:l_[!ﬂ botween amylose and amylopectin

1=
Mmylupmﬂl:: have

1 — 6 o-linkage

1— 4 @nkﬂge and

()  Amviopectin have 1 — 4@nh&g{' and
1 —+ 6 f-linkage

{3} Amylose have 1-+4 olinkege and
1 — G f-linkage .

(4) Amylose iz made up of glucose and
galactose

A mixture of 2-3 g formac acid and 4-5 g oxalic
acid is treated with comc. HoS50),. The evelved
gasepus mixture is passed through KOH pellets.
Weight {in g) of the remaining product at TP

i1l be 1
e R sy A
(2)y 28
s I

(7 44
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B1.

G2,

63.

B0 MTifeRm

OH O Nat
@ +CHCl, + NaOH — éﬂ\f CHO
o miniem semgfed 2

(1) Eﬁﬁﬁﬁmﬂmm'ﬁHmE;
(2)  ETgARETEE W | ;?H{';lu_l
(3) I A ?Hﬂ '
(4) EmEEHREEET (:OCL,)

TR W & T wagen i e
R UfEEErEE, FEE qw w oww B oewmiE @

T B § | ww fews s w2 0

(1} 3.9 sresam gyt o5 3

(2) i el =1 s = AR e
qEH A w= F g e f

(8)  wiEEe e % e
(4) sFEranites awgae e T |

T AT A, CgH o0 F R NaOT (v 5 sifiriies
NaOH & =3 warn nan) & sfufem wil snafors
T W W s R

A 3t Y 5. §

n ng_'.—@—{'lig- OH 3 1,
(2 @— CH - CH, a1,
UH

@ ¢ Y- cHy-cu,-on s,

CH,

(49 CH, —@— OH 31,

1.

In the reaction

{1

A

(o)

the electrophile involved is

ONa*

e, CHO
+ CHCly + NaOH — | i‘,J :

Pl

(1} dichloromethyl eation ¢ If-.“HI_‘:L.ﬁj

L=
(2] dichloromethyl anien ( CHCL,)

2]
(4}  formyl cation { CHO )

./}Rf‘ldif!hlnnxarhumr {30C,)

63,

Carboxylic acids have higher beiling points than
aldehydes, ketones. and even _ alcohols of

camparable molecular mass. It is due to their
e —— .
(1] formation of intramolecular H-bonding

{2) more extensive sssociation of ea rhaxylic
acid via van der Waals force of attraction
{3)  formation of carboxylate ion

i formation of intermolecular H-bonding

Compound A, CgH,q0, is found to react with
NaOl (produced by reacting ¥ with NalDH) and
vields a yellow precipitate with characteristic
smef].

A and ¥ are respectively

() He —@— CHy —OH and 1,

@ ¢ _ )~ CH-CHgand1,
o
OH
_:._uﬂll L

‘_L,}f"f@— CHg - CH; - OH and I,

CH,

{4y CH;yg "{__g— OH and 1,
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64. T=fafgs © 8 fFm o O and | 200 & T 0 64,

ap®, ap®, sp, sp T FHET T X 7

(1) HC=C-C=CH
(2) CH,=CH-CH=CH,

3] CHg=CH-C=CH

(4] CHy~CH=CH-CH;,

65. Tmfefem d @ ¥ srbemm oot e

ik B 7
N,
B
{11 I
s
Y H

L2}
NOy
il
(3 L |
P
b H
NO,
H
[} v |

66, Feffen 7 8 wieaest &
FHH wE R T (R = v
(I) —NHy<-OR<—F
(28 -NHy>~OR>-F
(3} —NRy,<-OR<-F

40 —-NHy>-0OR>-F

6ih.

—Im#ﬁ:ﬂﬁ@

Which of the fu]]uwiug mokecules represents the
order of hybridisation Hp!. 5[}'“'. gp, &p from lefk to
right atoms 7

(1) HC=C-=C=CH

{2 EHE =CH-CH-= {'-HE

i3 TH;=CH-C=CH

(4} CH,-CH = CH - CH,

Which of the following earbocations is expected to

b most stable 7
S

(3}

N,

H
||1.]' ¥

Which of the following is comrect with respect to
— | effect of the substituents ¥ (R = alkyl}
- p——— -
iD"-NHy =—0OR=-F
{2) =-NHy>=0OR>-F
i3] -NR;=-0OH=<-F

-

4 -NR;>-0OH>-F
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67. P [Collglen),| o0 wefiia weETET 1 S b 67. The type of isomerism shown by the complex
(17 waTiidE AeEEET [CaClylen),] is
(9] ST SHreEE L:metmal IS0 mETizm
(4 ITREETIE AU {20 lenization lsomerism
(41 sk T 13 Coordination isomerism
5 & < . (4) Linkage isomerism
ga, Fofatam g = o A d-d FEEw =i # A
# - of 9 @ Which one of the following ions exhibits
LB L R L d-d transition and paramagnetism as well ?
s - i T —_——————_—,—— . 1
(M crof (L Cry - ¥o
] - ] Ll =
(2] MnO, (2 ﬂ’ﬁn; !t..h::a- 2,
i - — 'I ko L= ]
(3)  Crg0? (3} Cro0F 0 go ::‘TE
; S =)
i4) Mnﬂj {43 Eﬂa‘fﬁ‘ & o
69. WA FEIHH, FalCO ¥ @ Iron carbonyl, FelC0O), is Id
[ =
(1) Tg=hch=H (1} tetranuclear {,_'—:E:; .
(21 T (2} trinuclear |
(3 UEEHTE i mononuelear ce
i4) e (4} dinuclear
. wiem [ 4 foome T sl ) &g 11 & fr e |T0.  Match the metal ions given in Column 1 with the
e R ﬂm-"ﬁﬁ :‘“T'“ o femw priln nmnﬁm:ti: “m?gmeLnt.Lﬁ of thﬁ; in:!'u.q.gh'er. in
i ) B e olumn II and assign the correct code ;
if-.—'.l'-‘?’.r 3 l?il'."-ﬁﬂi" i Calwme 1 Codwrmn IT
R . 8 BM.
a Co i 48 BM s o
- 55 B P i, 35 B.M
i b i. 30 BM . s
s WS B q - Fa'* ii. 3 B.M
3 T ik s \ d N iv. 24 BM
d N iv. 24 BM. : | "f; -
Ll ¥, o JNL
¥v. «16 BM. . .
c
a b e d @:@ e 4 A
’ iv ¥ i i
v v ii i > ' AT
4o @ v i i i
2w i i iii - <% _ ;
1 1] {1 h] Y
@ i i i v (g ' : - ] .
s i . : " | (4 i v 1 i
! : Tl. 'The peometry snd magnetic behavieur of the
T (NGO, #F9 6 swfif gy g d complex [NilCO),] are
(1} wmeet =i ﬁ e (1} equare ph:pr goometry and diamagnetic
(2y = W =i o ﬁm (2} sguare fhfaar geometry and parameagneotic
(3)  wpewmerh TR argedhy »__F-;J-}-"'-Ftétmhedrul geometry and diamagnetic
i4)  TRereEE iR o sEgee (4) tetrahedral geometry and paramagnetic
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o

o TE =itz vy A =it !I'ﬁ'l‘rﬁﬁl'l'j-ﬁ g H_?-FI R |
(1) mam s @ sl W= i wfiers H
arema w Enfoad wm B Rl =i R
it w1 dn wfrsms 1 et @ ol

Il B

¢y wum i S sfufen =1 seim o A

& ffra fz it sfubEm =i e T Fem o
A B

i3y iR ) wfiien s (Al W it
T & T e 1 arfulien 6 - 1Al
o1 i #
g wam s 6 wfefEm W @ ahems R
wA o el = #; Tt i = e
&1 4n whamrs € avgmat @ Fd S S
?
78. CaHy, BeH, BaH, § w7l wFh =1 %0 8
(1) BeH, < CaHy < BaHy
(2} BeH, < Bal, < CaH,
(3 Call, < BeHs < Bally
4} BaH;< BeHs < CaHy
74, Tm fEafy @ me & s ) den wiwem R 2
1) 18 mL A ik Em
2 1atmTdE 273 K 0-00224 L W@ a9 & fm
(2} 018 g FE %
4y 1073 e e & fey

5. 43 fv o s §, s@ele i siede s d
ik fafim faar, wet (emf) W 90 AT TN R

L g2y — I8¥
Brl] ————» Br0; ——> HBrO.

“Togezv o ? “TE5V
F-t wirire s & g 8 7

(17 Brd 3
(2 Brs

{31 Br f'.li
{4y HBrb

79 The correct difference between first- and

speond-order reactions is that
1} the rate of a first-order reaction does not
depend on reactant concentrations; the rate

af a seeond-order reaction does depend on
repctant eoneentrations

(21 a first-order reaction can be catalyzed; a
second-order reaction cannot be catalyzed

Mimlf—lirh of a first-order reaction does not

depend on [Aly;; the halflife of a
second-order reaction does depend on Al

4} the rate of a first-order remction does
depend on reactant concentrations; the rate
of a second-order reaction does not depend
on reactant concentrations

73. Among Calg, BeH;, BaH,, the order of ionic

character is
Bell, < Call, <Bal, 9V °b M’}F

&) ]_in:H.J < HJIHE = {'.:u].].:'!_
if) CaH, < BeH, < ]_:‘rdH-g
41 :E.-'.J_H: o I!-r_le o [.'.-11-13

4., Inwhich case iz the aumber of molecules of water
maximuam

(1.~ 18 mL of water i oot

(2% 000224 L of water vapoura at 1 atm and
273 K

L
o VB
31 018 g of water "12-'_13
(4) 107 mol of water
5. . Consider the change in oxidation state of

Bromine corresponding to different emf values as
shown in the diagram below :

= 183 Y¥ - 15V -
Br0, = Br0; — HBrO
4 -
By +———— Big
o T10652V & 1595V
Then the species undergeing disproportionation
g -
i1} H-rf.'l;
- —
MT‘._. (A
(@1 Briy,
{4y HBErD
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76. Xy, Y, 3 XY i rmay fadism Fwfeti &1 qum
1:05:1 8 | XY & fomm f wded

AH = - 200 kJ mol™ B | X, # a1y ferfis sai

76. The bond dissociation energies of X,, Y, and XY
are in the ratio of 1 : 0-5: 1. AH for the formation
of XY is — 200 kJ mol™. The bond dissociation

e energy of X, will be N3 | H ‘:\{
- (1) 200 kJ mol™ 2
(1) 200 kJ mol™ Mﬂfl "d s sooumol i My 97
(2 [
(2) 800 kJ mol™® i e il > -y PRE
gy G Y o @ 100kImort T - 60
mo . qa - ,
=1 )(% R 400 kJ mol™! et G) ‘e
(4) 400 kJ mol &\\
77. When initial concentration of the reactant is
7. 49 aqﬁqm &1 Irfers grear i A fa,-q'l m’an %T, )O  doubled, the half-life period of a zero order
T I Ffe AR ¥ forg avd-amy @ &:V" FERCHn g el
- , (1) is halved —=0
(1) 3 g 2 3 St / 5 i (b=
3. (2) is tripled
(2) forpn B 2 % e : Po
9) et & 7 \) ~ is doubled ‘C”L::ii L
t;} F:qutaﬁa w2 | /5, W= ¢ (4) remevlins unchanged
' g - 78. For the redox reaction
78. TeiEg rfufwran

MnO; +Cy0%" + H* ——5 Mn2*+ CO, + H,0

% foru wgfora wfier & fore sifysment & adl i
&

MnO, C,0- H'
(1) 16 5 2
2 2 16 5
3 2 5 16
@ 5 16 2

79. fufsen § Foafafaa § @ <R g sifteag sar
famior % fore sewerf 2,

A, (g) + By (g) = X, (g)
= a9 wE 3= T

I qM U9 3=

= am vg = g
39 a9 vq = g

srrey g weftertor § d9ieE U ‘o’ GEfud 2
(1) A9 el & o9ca &

(2) T\ 37 & Heg Jufeyq fogq-g @
(3) | e & aq

(4) 7| 3T % wex YU Sl 9

AH=-XkJ?
(1)
(2)
3)

(4)

80.

. : B &
2 MnO; +%2Of' ﬁi* —— Mn** + gog +H,0

the correct coefficients of the reactants for the

-

balanced equation are
. _q 4 5 -fj/ B o AN
MnO, 0204 H‘;{A {_,\“hu\ j(\"\}\1’(:'1
1 16 53 2 i
Ezi 16 bs gi I
- ALtV 1S
37 2 5 16 40
@ 5 16 2

]

Which one of the following conditions will favour
maximum formation of the prqduct in the

c
reaction, = D ‘k’ 0&' ot YemP-
Ay (@ +By(@ =X AH=—XkJ? | \so .
(1) Low temperature and }:lgh_pressure Q'\
(2) High temperature and high pressure

Mﬂw temperature and low pressure
(4) High temperature and low pressure

\3(‘8-

7 M

80. to the ideal gas equation

The correction factor ‘a’
corresponds to

(1)
(2)

density of the gas molecules

electric field present between the gas
molecules

(3)
(

volume of the gas molecules

forces of attraction between
molecules

the gas
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Bl.

1) MgXg
{2} MggX
(3} Mgk,

t=ifm w79 (X A AiuhEn e v A
dfirs o= & R 0 = Foew osmwm g
FoigHw A 1st 2s° :Ep": #, @ = A
aE o R

4} DMgqks

S S A 9 bee TS AW ® 1 00070 &
FAF foc ORI A TiEid B w R ) s et
= 0 W HE S S00P0 TN U TR B AT 2
(A wlifan s w1 g 2s=mE v s fem A
+ iy e &)

i1 43 \Mﬂ
Vi
q\.llﬁ =
() =
442 ﬁ,q'ﬂ‘
- TR=
{3 :“—1 u:.j__ }f_._.;l
2 =
.
() ]— ﬂ,
4 oz AT

Frferfian wfefra @ Rraw Fifim - ""T;

CN*, CN™, NO 3 CN

o % fdt germ s Sz d 0 wazat

(1) NO a=ME

(&) CN" v

(3] CH™

(4] CHN
fgm | | WA T dw B

(1) ‘% ®ee o goelA W B Sas HO0g 54
= & wE

(2) N wm w1 seeie f=ms
13* 2gé EF‘: p, 2p,
NN

(2) U wEE A9 FEeR oEman 7 FEr ol
UE T § U gEeE 9N SEin e i |
ffde & |

(4) dz&FUm®maR )

Bl.

B2

s
42

ins' oghital is equal to sera, @
ﬁ electronic configaration of N atom is

Magnesium repete with an element (X) to form an
wnie eampound. If the ground state electronic
configuration of (X) is 1s° 25" 2p7, the simplest
formula for this compound is ~ AJ

(1) MggXy
(2} MgoX M_a_tv”__f_'

(3 MgX,

MK,

Trom exhibita bec strueture ot rosm l!:mpcmturﬂ.
Abave 900°C, it trensforma to fee strocture, The
ratio of density of iron ot room temperature to
that at 800°C (assuming molar mass and atomic
radii of iron remains constant with temperature)

IE
- - T
@ &, 9% g
Vi >

do gt
Gg?-tﬁ- AT

443

{3 i 'Lﬁ
() % Yo

Coneider the :I‘qulgwh-ug SPLCIes ;
e 22 :
CN°, CN°, NO and CN
Which one of these will have the highest bond

order?_
(1) NO
(2) CN'

CN
4y LN

Which one iz a wrong statement ?
{1} Total grhital sngular momentam of electron

Lokl B

1s° 2g% EI”; 25":.1- 25’2
t [t [H[t[4
{3)  An orhital 15 designated by three gquantum

numhbars while an slectron in an atorm s
designated by four quantom numbars

{4) ‘The value of m for d:° is meTn.
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arpisa & 3gf w A w24 & fiifa e
F1 FI-H] AT oYY W T R Y

(1) . N0,

N3O

NG,

|'2_l
(R
4y MNO

TSR (A} Wi A wfaeee g sfelEn =5
wE UfewE dimmE W R W R gt wfelen o
e EggTEa | ofiafdn g & fael fF 9w @ e
= gy F | (a) @

i1} CH=CH

() CH,-CH;
(3) CH,=CH,

i4) CH,

B3,

Which oxide of nitrogen is mof a common
pollutant introduced into the atmesphore both
due to natural and human activity ?

N0,

(2) NyO
(3 Nﬂg
4y MNO

@ Hydrgcarbom (4) reacts with bromine by
({ Eubﬂitu:iaiﬂ form an alkyl bromide which by
Wurtz reaction is converted to gaseous

hydrocarbon containing leas than four carbon
atoms, (A} is

Lo \
(1) CH=CH Ly :;-_Sfj_
27" CH, - CH, Bt a
o
(3) CHy=CH, [, P
(4) CH,

B7. ik A 1 Na & sfuflen s woae B 3 B A

PCl; % s wfifiem smm waw C 2 & | B wg ¢|87.  The compound A on treatment with Na gives B,
i St A § affen wEE W zEfem dw we and with PCl; grves C. B and C react together to
BRI ABmNCFI Y § give diethyl ether. A, B and C are in the order
(1) CyHOH, C,H,, C,HLCl (1} CaHzOH, CgHg, CoHyCl
(2) CoH5CI, CoHy, CoH 0H (2) CgHLCl, CyH,, C,H.0H
(3) CyHROH, CHECL, C,HONa (3) CgHgOH, CoHgCl, CoHyDNa
(4} CyuHzOH, C,H.ONa, C;H.Cl M,,H 50H, CoHg0ONa, CoHLCl

2 The compound C.H; undergoes the following

B8, = Wfrs CyH, Frafafian sfifsnsdi & o & @ : & i
ragCtions =
dCla i A Bry/ Fe 5 3 Cly /! & Bry/F fin fHC
H, ~o2/4 |, BralFe  Zn/HOL CoH, mia . By B gZun/HO
TAE O R e The product T’ 15
(1) rn-gfl‘ﬂ"ﬁ,"!ﬁé:l /]\\ i1}  m-bromotoluene
(2) 324, 6-3RRTE Li; ; @) &-bramo-2.4,6-trichlorotoluene
(3)  osmERE et ) i3)  o-bromoteluene
z "
(4) p-ateETEE tl 0 4 p-bromotoluens
= !

CHLANEE/Page 23

F w1 % A 10T | SPACE FOR ROUGH WORK

(R L
i\, /iilﬂ

b

C

¢ |

HindifEnglish

L



ap, Frafafs afifEn w4 g s P, Q U R
W] gEEiEY -
EFL
e AlC
["* 1] + CHZCHCH,C1 :
{1l D-3 R
e —
mHo7
1 Q i
1}
01 5
@ [ 1] 1 cHycH,-oH
o s
. CHICHy); . OH
@ [ ﬂ’ 1 cHcHOmCH
= P T Y
CHyCH,CH; CHO  COOH
|
oLl < C)
I "’“*:.f’l . %,J P N
OH
o~ CHICHg); _
(4} &H [ U CH; -C0 - CH,
8. FefAfEs O 8 fwam e Berramms =0 3
&7
i1} wEEE
(2 dAE I
(3 v
(4 R

0.

' Identify the major produciz P, @ and R in the

following sequence of repctions

Anhydrous U0 -t
& AIC]
[ ]| + CHCH,CH,Cl g 2
S y i
-0 (i) O
. Pt ) 4
& (k] HqO*/a
il 4
2 Q R
CH;CHyCHy  CHO
|
|"-:}lhlh -;':-"-M""*-\.
(1} 'ﬁ.__,J l{___]l  CHyCH; - OH

_~ CHCHyy __ OH
(2) rJ - k /][ CHRCHIOH)CH,
CH,CH,CH; CHO  COOH
o ,-'! " .--""th
'H.\_____,- 1 ol o
OH
o~ _CHICHy),
(4) I I\j CHy - CO - CH;
e, - i T i

Which of the following compounds can form a
meitterin? . g\t

{1} Aniline G‘FL

(2}  Benzoic acid G‘l‘){ [

[=t) stamili
Acetanilide 1

A - |
‘_!.{-I"H"l‘_: Ivicinme { P i i.! >

Wty
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al.

2.

a3,

B4

frfafem 8 & ®F-m %99 GET B 7

(1) st § Sews svemy fufe o oieg
T wR |

{2y Efiew sFmaeh #

3) S v R oaen B, Sw
At ww wEETE AT R )
i4) mree i fEwEE § oy | siEa

T
e fead B 8 Y

(1) v A

(2) HTETERT TIEE d

(3] TEAA-TEATE A o
i4) WEEE e H

e Feow s R 7

1} @

2} e e

(@) wvEE g

(4l TEE

ar rey w4 # Faad Refers af avdh @ e =
gl 7

11 HHEH

(2)  FFUE]

(3) o ST
i4) WIEHEH

%ol ozt el Bt £ 7
(1) SRR

(2 =g

(3) iy

(4) =EEEl
ferdtar 7 # Teftaw wgem ol weim fewd T
wAET?

i1y i fEw=m

(2) T

(3) HEIEA T

4y FEE Ey=n

e W F AT -

(1) Al 3N TEw AT % aeel 4 e W
i Bl 2 |

(2) EEEEEA W oTEm 9 o =T men e
HraAT B |

(9 Trw W A SafEaeefada a

(4) TR W Sw i fieaal 6 s d

AT U e R

91. Whichof the following statements i correct 7
{1#" Owules are not enclosed by ovary wall in

EVITNosperms,

(% Horsetnils are gy |!|Tnﬂ'-'ﬂpl:*t'm:-|.
13y Seloginella is beterosporpus, while Solvinig
is homosporous. 7 —
(4] Stems are wusually, unbranched in both
Cyeae and {.'r'rlf-"h.*\.)'{_
92, Preumatophorngs LICEI_'E_
\,.;J"'/ﬁrﬂ‘;;zﬁ
(27 Carmivorous plants
i3} Free-floating hydrophytes
{4y Submerged hydrophytes
93. Sweet potato is a modified
(1} Stem
(2} Tap root
M.—"ﬁd\'&ﬂﬂﬁﬂﬂﬂ roat
47 Rhizome
84, Flants having llil]ﬂﬁﬁ_ﬂ:naﬁnw:h are
}  lsrasses
{2) Conifers _-
(3 Decduons HEE,'.EBHPETDJB
(4} Cycads—"
85. Casparian strips oecur in
{11 Epidurm'ts_ .
(2]  Cortex
(3} Pericycle

‘_J';.L.ffl'.'fnl:lndi'rmih

96. Secondary xylem and phloem in dicot stem are
produced by
(1) Apical meristemer®
i2) Phellogerm
(3" Vascular cambium
{4}  Axillary me risal,;znm
97. Select the wrong statement |

i1y Call wall is
and Plantae

|11:-3P£Ljn members of Fungi

‘_’l'z.r"'/l"wudupud]il are. locomotory and fecding
gtructures in Bporozeans,
S ——

(3
{41

Mushrooms belong to Basidiomyoestes.

Mitochondria are the powerhouse of the cell
in all kingdoms except Monera—"
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88, The experimental proof for semiconservative
replication of DNA was first shown in a

(1}  Fungus
2y Plant
| B.H.L'I‘.E:rium
4 Virus
99, Select the correct match :
(1} Alec Jeffreys Btrapltococeis
PrCENORioe
(21  Matthew Meselson ‘/-,f. —  Pigum sefivum
and F. Stahl '
()

Alfred Hershey unﬂ;l - TMV

Martha Chase
i Francoiz Jacobh and

dacques Momod
@- Select the correct statement, :
(1} Franklin Stahl eoined the term “linkage”.
12} Spliceosomes Lake part in translatio
M’unncu Sguare was ﬂevelm: Britizh

- Lac operon

seientist —
(4} Transduction was dis red by 5. Altman.
101. Which of the following pairs s wrongly
mLELE e
b Btarch synthesis in pea : Multiple alleles
2y XO type spx " * Grasshopper
determinstion
{5}  ABOQ blood grouping »" - Co-dominance
(4} T.H. Morgan "¢ Linkage
L\PEEIEL'\': are prodoeed _h;.r
{1} Mueiotie divisions

2} Parthenocarpy
Mitotic divisions

i4) Parthenogenesis
103. Which of the following flowers only once in its
lifie-time 7
(3" Bambhoo species
(2 Mango
13y Fackfrut
4} Papayn

M. Which of the following hag proved helpful in
preserving pollen as foasils 7
i1} Pollenkitt
(2} Ol content

2y Cellulssie intine

__ﬁ-f"#ﬁpumpu]lr_-n:i i}

gr, #.7.u. & AR virEd W aEife e e
e ot Trn | 7
(1) = H
(2} grew g
1] Trﬁ?IT'JT'ﬂI
(4p Forare o
(1) u=rr S - et e
(2) Ao fueEa S W, WIEH - e dEaw
(4) 7FkE 'E’ﬁ o onaf g - ET.'I'-TEfI.
(4) e dE wa A e - e i
100. &g a7 =1 0 ;
(1) “wEeem” W e e w3
(2 EAEEEE T S qm EE E
(3w v fafen dnfs oo fsti S o
o |
(4)  arEETm 7 @t T, SeeE 3
101. Frefafen 4 8 $7-m g0 e o8 gl 2 0
(1) == § 9% oyeem : Wi
(2)  XOwHn fm i - Rem
(81  ARO ¥ HHEA HETEEA]
{4) .=, wis TEAAA!
102, ‘wiwkgy s gm senfm am 9
(1) snddt ferae 2o
(2]  sfeEER Tm
(31w frarm gm
(4) SRR g
109, Ffafum 4 4 ot o0 S sm 4 e o
i yweE w7
(1) =05 ofisfta -
(2) W
(FF ®heEd
(4)
104, Ffefaa i 4 9@ o =1 FEmE & v d
siefim %= 4 were i gan 7
(1w e
(21 et sveee
{3} S T w9
(4) TOEERR
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105. 579 T 5 BLELR F UF g9 & frdee o e |
Frfefir § & o S5 s v R |

E?
(1) ‘P (vrs awm)
2l LNEE
(@) Timize
4} pBR 329

106, Wests e sfifEn (PCR) & =i %1 54 %
wT R
(1) Toremm, fpdiem, e
(2) T, o, o
(3 wdfem, P, Torgeftem
i4) P, adfiem, e

107, wriaf Imin % fau smEfmes: seln o9
qat & 91§ g S g & e w b e

HTEA Iriam] 8

(1} WRAR e sEam iy (ICMR)
(2)  wrERs sfem g o Roown
(3) S w3 sireifrs sgrum e (oS
) g wid g afif (GEAC)

108, @gmia L U e e R S e —
w8 A weftn & Sl & v = e
o 0 R 7
(1) F93gw
(2) H.mgm
() =) (de )
(4) Aa-wmm

1m.ﬁﬁﬁﬁmﬂglalmﬂﬁqﬁ'ﬁrﬂ$ﬁé€

[lﬁﬁ}%ﬂﬂmm.ﬂ’ﬂﬁiﬁﬂmmﬁﬁﬁﬁm‘

CRCEIEE AR TR S e =

(1} Co-887
(2) i o=
3y T O
(4) . wEg
110. ®5F ghe w1 g
(1) TrEarATEy - s ana
(2 Au=, oy —  HAgham
(3] Fyx 3miplt 395 fame wim
(4) af. s B =

105. Which of the following is commonly used as g
vector tor introducing a DNA fragment in human

Iymphocytes 7 = :
Ll Retrovirus

(2} A phage
(31 T plasmid
{4) pBR 322

106. The correct order of steps
RE&CLiIM_,_ ;
(1) Extension, Denaturation, Annealing
{2)  Denaturation, Extension, Annealing

in Pelymerase Chain

—_—

(3)  Annealing, Extension, Denaturation
{ Dennturation, Annealing, Extension
107. In India, the organisation responsible  for

asgessing the safety of introducing genetically
modified organisms for public use is

t1)  Indian Council of Medical Ressarch | ICHR)

(2}  Research Commities on Genetic
Manipulation (RCGM)

(3} Couneil for Scientific and [ndustrial
Reasarch (CSIR)

i Genetic Engincering Appraisal Committes
(GEAC) ¥

108. Use of bioresources by multinational companies
and organizations without authorisation from the
concerned country and its people is called

(1) Big-infrinpement
{2} Biodegradation

AT  Biopiracy
(d)  Bisoxploitation

109, A 'mew' varioty of rice was patented by n foreign

company, though such wvarieties have been
pregent in India for a long time. This is related to
1y Co-G57

(2} Lerma Hojo

(3) Sharbati Sonora

I, H.‘Eu:l:u:l.ﬁ

110. Select the corree! match :

; Ribozyme - Mucleic acid

(2]  T.H. Morgan 2 Transduction
i3 Fyx Receasive pnmnl‘r! Dihvbrid cross
4y G Mendel ?L'.. - Transformation
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111, B wm g 7 111. Miche s

i1y =\ % vaEon § ofl A ww (1) all the biological factors in the organism’s
() AUE W 9E TW #@ #E # w4 F fom environment _
Em i2) the range of temperature that the organism
: i rerls L live
(@) s i T e o St R S
) s d E C v s s, W 98 {3 the physical space where an organism lives
'-'IE?” & i3 . . : i4) the functional Tole played by the organism
y whore it lives
. Frtfirfigs 8 @ Fm v g wgws & 7 By
o8 I' 112. Which of the following is a secondary pollgtant ?
(13 €O 1y 00
(2) B0, @ 80,
sl {3 ©oy

) Oy _i4r70;

118. fime ¥rAn fag w8 59/ Fm e 7

) 5 @ World Ceone Day is celebrated on
I' L
(2) 16 (1) 5" June
3) 21 sbE 2y 16" September
) 229 3 21* April
114, $2Fed & wn wfigm 27 @y 20 April
(1) R
: . - : . Natality i t
(2) T e s s o 184, Nskalify refurs o
e 1) Death rate
o st 3 el B (2} MNumber of individuals lesving the hahitat
B | ’
(4) W HTETE 3 el i gL-'ﬁ'/ﬂLr s
115, amarprea o, ArEm % Gedem e s i47 MNumber of individuals entering a habitat
i e &1 fmie § BoffEa § 8 F99 1) 115 In stratosphere, which of the following elements
1 TR E IR e B Y acts as & catalyst in degradation of ozdne and
1 = release of molecular oxygen ¥
i 2] F i1y Carbon
l'a] c‘? (2) Fe
h i ; @ Cl

1 (4) AW M"FEET-

116. Frefrfem st @ fon vom = witfcakim ftfoe

116. What type of ecological pyramid would be
| are e @ 7 obtained with the fellowing data 7
1 it i ; 120 ¢ Secondary conzumer : 120 g .
i IR ; 60 g Primary consumer ; 60 g L@—}
o ieR Iees 10 g imary producer : 10 g LY
(1) demmn w1 3w MitE ﬁ'emd pyramid of biomass
(2w g Ay s = (2} Upright pyramid of numbers
(3 F W {3 Pyramid of energy
(4) Staumn = e {41  Upright pvramid of biomass
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117. " i G um wm ko7

(1) =8 A R seaE o
(20 HEEE A TR
(3wl g % A
(4) WiE s & AT g

118. Fafafam 4 8 2R o w=mEvEEn o
wflFar & 379w 777 & 7
(13 ATP
(2] MNADPFH
(3r MNADH
(4}  Oxypen
119, Fefafan @ & Faom v gl 597 20
(1) &FEEeT
(2) dicis
(3) IESeTT
4)  FEeET
120. =i i1 rfefiorn feed wafm 777 76 7
(1) wHEdE
(2} {:IET-FEH'I H
(2 A
(4) CO,HEm A

121, % & fom fomfafam § d e =i 2 2

117. The Golgi complex partiripates in
{1} Fatty acid breakdown
() I{F:flr!il':iT.ilu'l in beectaria
Murmalmn of secretory vesicles
(4 f"LE-‘t-'i‘Filtil:ll'l of amano .'||_'1r.|

Which of the following is net a product of Light
reaction of photosynthesis 7 2

(1) ATP™

{2y NADPH
AT NADH

{4}  Omxygen

119. Which among the following is ned a prokaryote ?
{ Seecharompeees
12)  Nosfoc-
(3)  Mycobactefium
{4} E".El."il'f:‘ilg,u‘fu.
. Stomatal movement is nof affected by

{1}  Tempersture

{2) Dy concentration
AT Light

(4) €Oy concentration

121. Which of the following is true for nucleolas 7

(1) Tt ﬁlFﬁﬁmm q Eﬁ ':F‘TEEF l':'f:T B | (1) Larger oucleoli are present in dividing “'Eu”'
(2) TE T fi WP R | (2) It takes part in spindle formatiomy<
(3) vm T“Eh"‘: Q e g & | ) (3 It is a membrane-bound structuret.
(4) ¥® WEWHE RNA e = i s | It i# a site for active ribosomal RNA
Ll synthesis. = Padbe.
122, AT S o W gy fape wraean f ey (122, The stage during which separation of the paired
FrT R homologous chromosomes beging is
(1) v (1) Pachytene
(9 umiER (2} Dhakinesis
(@ foap _'__,Lfr‘f""]:li]:lfntem
{4) T 4]  Zvpotene
198wk & 9 st S w a0 123, The+. two functional groups characteristic of
(1) EmEifErE il afes R
A e 3 i |1.1 hydroxyl and methyl
91 i e e (2}  ecarbonyl and phosphate
) SR ST 3 \'..'I!.I.‘trﬂ'n}'l.:LlLl.‘I methy]
y ot L.'-""'/ carbonyl and hydroxyl
124. w8 1 et # ow A A T 124, Stomats in grass leaf are
(1) S _'J/)ﬂl_flnh-l‘mll shaped
'-J:-]-' ARITET (2}  Rectangular
:':: : ﬁ:ﬁ L Badney shaped
14} Barrei shaped
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125. Tefeies 8 9 S19-a 9=y 75 1 = Fi9 & =5
S e aw [ FFF w0 wwm 7

i1} F‘;»'?%’F.'T

(2 W

(3
4y e

126, 90T = W WEA ® 99 % ow g9 A o
HAWA W TUER {7 W 8 7

(1} =120°C
(2) =196°C
(d) -B0°C
4} —160°C
127, o Fram wn # 7
(1) wF v 76l & F W g g fm il F
oy HeEA
(2 T GUH T TR AL R AT A
(3 T gWE w0 g A e & o e

(41 TE TerE i s

125. Which one af the fllowing plantz ghows a wary
elose relationship with a species of moth, where
none of the two can complete its life eyele withouwt
the sther? — .

(1) H*_.'rlrr.i'l'r.n-ll.:"_

(2} Banaps#
‘rlr;,i,lr-""i".'..'ern

(41 1p"l:-|.l|fr;'~l|i'-

126, Pollen grains can be stored for several vears in
liguid nitrogen having a temperature of

i1y —120°C

- 196°C
{3y —BO~C
14 L H

127. Double fertilization 15
{11 Fusion of two'male E“'"iﬂ‘f‘ of a pallen il
with two different ogps -

(2}  PFumon of two male g.;l.m{‘t'ﬂp&ﬂﬁ'ith One g

(3 Fusion of one male g with twa polar

ncled
M;gamy and triple fusisn

128, Tea® wwm.dyehm § st 9p7 e o
i1} 1A ey dadifEn 128, Oxypep is mof produced during photosynthezia by
(2) Ty Mﬂ:c‘n sulphur bacteria
(@) s {2) Cycas
4 7 (3) Nostoc
129. fimfafin # @ shm 7= =fms § v6f =m \4)  Chara
% R soard 3 9 Which of the following elements ia respansible for
(1 ey maintaining turgor in cells?
Ly l-__-_-_ F
(% R (1} Magneaium
@ i ‘}}?'" Potassium
) e (3 Bodium
: (4) Caloum
130. HIfER w90 § NAD =1 e s 2 7 ) i
(1) U T oA 3 | What iz the rle of NAD" in e¢llular
e - : reapiration 7
(2) =® v gy & F A g | : .
4 3 : o farge | {1} It functions as an enzyme.
(§) R T goaea A & oy b wd wom # A7 It is a nucleotide source for ATP synthesis.
: 4 o 5 It funetions az an electron carmar,
(4) =@ waEE FEeT & o afFEm et o :
3 : (4} Tt is the final clegtron acceptor for anaerobic
Iy respiration ¥
: } sraw Frefata 4 4 ; : : : .
"l q_:lf'q I“-T < 1 A " % v 131. In which of the following forms is iron absorbed
i t_ ! by plagts? i,
(1) = i Farric ";1
(2} vFa d= (2 Froe element
(3 =\ {3)  Ferrous
(4) i S e e (4) Both ferric and ferrous
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192, o v B e # o
(1 HE
{2) oy
3 ST
(4] WBEY

133. Fr=fafion # 8 ol Sowsme o andapfifings

% A s wiEa vy d e B § Y

i1y ST
2 el
(8 e
(4) e
134, Freffm d a4 shm rem s A gl 2 0
(1) UHEAas g0% - Sloesia
(2} W oY o T
(3 fewenfiw el - e
i4) TR S - TN
195. e 1§ & v o2 = oy 11 < wet 3 faee Sif

wn 4 B om a4 3 st freer @ owm
it .

&y | = ]
a, WETEAM i uiehrE gegi o Fﬂ'ﬁr i
HUR W U |
b. At i, o B o od ot s
w1 ffirgdess o =@ gn o
el EEH g & fE
st av S g v u
c.  HURRH @i, 61 e Wl gy SeEl e
YT M A T W
FIYT = T AT R
d. weEsHt v, o i Feed aamt & g
(i) o 395 famen B9 § A
fafimm whwl &) wram w3 9
OEEE T R |
0 b ¢ el
(1) i v i i
(@) & iv i i
(3§ & i iv
4 @i v i i

132, Winged pallen Eroins are prosent in

i1y  Mustard
(2 Mango
{d)  Cveas

J]-r"'ff‘mu:z

134, After kﬂt’_".'l:lﬁhtt'l._'.' Tl by el |:|3,' mt!'iﬂF_IiP.l Bpores are
p:u'u-dm:ed
(1) 1 g*u,.'.rﬂr@-t

(2 Agaricus
3)  Allernarigy™
(4} Baecharomyops

134, Which one iz wrengly matched 7
i Uniflagellate gamstos -
(21 Cemmacups
(31 Billagelate zoospores
(4} Unicellular OTEINISM

Palvsiphonin
Marchantic

Brown algae
Chiorelly

136. Mateh the items piven in Colummn [ with those in
Column II and select the ecorrect option given
below :

Clolumn I

Herbarium 6.

Cedeemn I

o [t 15 a place having &
collection of preserved.
planta and aAfimals

& list that enumerates
merthodically all the
gpecied found in an area
with brief description
aiding identification.
Museum I5 & place where dried and
pressed plant specimens
dunted on sheets are
ept.

Catalogue  iv. A booklet containing a liat
of characters and their
alternates which are
helpful in identification of

various taran.

L R |
()
(3

fii
—
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196, Frafafim 4 4 eom diol i mw @ =Em Em @

B
(1w
(¥  wEEwE
(3 TEEEER
i4) vhRE

187, Frmtefes & & s seEnt w69 1w = 9|

worw w9 4 gfEm 7

Which of the following iz an gmine acid derived

._|,H" Epinephring

(2} Estradiol
(3} Ecdysone
(4) Estriol

137. Which of the following structures or regons is
incorrectly paired with its function ?

P ——

: : , (1) Medulla oblongata : controls respiration
(1) g st ;v v wey ) i and cardiovaseular
#1 = reflaxes,
@ wdeTE i W o () Hypothalamus produrtion of
A9, T A T releasing hormones
i and regulation of
= S | temperature,
(@ s oA R A : REAT REE K iret.
Tafire &7 1 AT | AR (3} Limbic system consists of fibre
. nfa = Fmm w7 tracts that
. ; , 1 interconnect
(4) w0 FEwEm ;oA vE oz weiErss e different regions of
I FiIg a1 aga 6 9 | brain; controls
yoveEmant.
. (d)  Corpus eallosum band of fibers
138, WHE 93 § unedl] #W e o W eE W e connecting left and
B right cerchral
. hemispheres.
(1) 9= wE A YR wEE g
(2  wmghm O g fendt tiw o 138,/ The transparent lens in the human eve is held in
- ita place by
(2)  >mim @ ¥ we g sk .
: 2 ligaments attached to the dliary body
4 QEHTY B H TR i
) ™ w (2} amooth museles attached to the iris
(3} ligaments attached to the iris
139, Ffafan 4 @ fem el & sl 1 i (4}  smooth muscles attached to the ciliary body
it & 7
W ’ 139. Which of the fllowing hormones can play a
(1) urERste wE weiEes significant role in osteoporoesia 7
(2) T e Yt wiEE (1)  Aldosterone and Prolactin
@) S e Mélrugen and I‘a.r_a?h]rmid hormone
_ T Wi {3) Progesterone and Aldosterone
14 ETAISE B A W I_ {4) Parathyroid bormone and Prolactin I
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140, Fefefas woedl faem & = 8§ 8 e freey

140, Among the fllowing sets of examples for
ol WA ohifEw - divergent evolution, select the incorrect aption -
(1) =, SwEE wE i % s Y 1) Forelimbs of man, bat and cheetah—"
(2) wEE, S v < it (2)  Brain of bat, man and cheatah., —
(3) =wmEE, WA v sl e 13} Heart of bat, man and cheetah—"
(4) HTEIE, SPIRE U8 gEE 1 wiE Eyve of octopus, bat and man

141. Fofafas o 8 SR mefmm om0

i1y atforfems
(2) AT T
(%) wH Eftmnu
i4) fafRm

142. Fraferfian s 3§ & R0 s 5 She i 4
s’ @ g § 7

g, i

b,  HETETER

c. WR AR

d. syl i
e TESET FHR
1) hc¥d a

{(2) bdTHe

(1) s bwg

) 8, cTHe

143. fem i & mee gm ow=lm dme % owEw S

anfafi d farsred s o= dm R 2

(1) iR
(2 fomd o
(3) RS
(4) swffeaifon
144, 399 TH5H & amu F A" dee § awEm
T 32 & 9
(1) TE=TE
(2 s fwm
(@ FEEETm
4) wgEeh Bem
146. 39 % TH 5 v § ekt w=d 9w ame

feedi gfg % =7 #1407

Which of the following iz mel an autsimmune
dizenze ?

(1} Psoriasis

(2} Alzheimer's diseagze
(3} Rheumatost arthritis
4} WVitiligo

142, Which of the fllowing characteristics represent
‘Tnheritance of blood groups” in humans 7

a. [Dominance—"
b. Co-dominance."
&, Multiple allele
d. Incomplete dominance
2.  Polygenic inheritance
(1) b,cande
2) b,dande
L& a, b andc
i4) a,cande
143. Tn which disease does mosquite  transmitted
pathogen  cause chronic  inflammation  of
Iymphatic vesas]s ?
12)  Ringworm disease
{3)  Ascariasis
{4)  Amosebiasis

144. The similarity of bone structure in the forelimhbs
of many vertebrates 15 an example of

__,_L-H"-’Hnmnlr.rg}r

2} Convergent evelution
(3] Analogy
4} Adaptive radiation

145 Conversion of milk to curd improves its

nutritional value by increasing the amount of

(1) e D (1} Vitamin D
@ e B,o L}Zﬁrﬁamiu Byo
i@ feitm A (3} Vitamin A
4) frfmE (4) Vitamin E
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146. Feafafas 4 @ fafeen e § ofedfes & 7o &
foe mofe € fd o= G e wam 6
EGiR
(1) et
(21 wrEfE
(3) HEE
(4) wE=HiET

147, Fr=fafm 4 @ s Swrad s’ § 97 s o

(1) S48 wE o
(2 W T
i3 ls 399
id) #iFd=
148. @y 1 4 1 ™ 74l % =y 11 8 w2 | few i
#n A= R om Beedt 4 3 o B = amw
i .
e [ e 1]
a.  HUEm i, UV-B ffem
b, #fah Fzfir i, T
TEmam (S SEEE) i e i
Hqn Tt iv, e Foem
a ] s d
(1] = i it iy
{2 i v i ii
3 i il iv il
4 i i v iii
149. OF 3w Wt gt wf i §

(1) gl =i Forem e 4 afim e §

(2) wwn v TE =i e § e e
£

(3) Wew =i T i | o B

(4) = =i weem sfe & ou w6 E

T o g ] \
- Which one of the follewing population

| interactions is widely used in medical sclence far
the production of antibiotics 7
. L
i1 Commenaalizm
{2) Parasitizm

(31 Mutualism

'.E:‘!r]f Amensalism

147, All of the following are included in ‘Ex-situ
I conservation” exeep! e te
(1) Wildlife safari pagks"-

(2} Botanical garders .
AT Sacred groves

(4]  Seed h:l.:n]f_:.if..r’

148. Match the items given in Column | with those in
Column Il and select the eorrect option given
below :

Colermm 1 Codumn 1

a, EButrophication U'V-B radiation
b,  Sanitary landfil Deforestation
e.  Snow hlindnes iii. MNutrient
enrichment
d.  Jhum cultivation iv. Waste disposal
a b o i
(1) i i iii v
{ 1ii iv __‘l__ ii
| 3 1 iii v ii
() i i iv ]
J—
149, wing populationsf a country,

pre-reproductive individuals are more than
the reproductive individuals,

(2} reproductive and pre-reproductive
individuals are equal in number,

(3} reproductive individualzs are less than the
post-reproductive individuals.

(4]  pre-reproductive individuals are less than

the reproductive individuals.

150. Which part of poppy plant is used to obtain the
drug "Smack”?
i1y Flowers
[2) __HHrm:_e
AT Latex
(4} Leaves

160, “ti=" T BN e i 5 few wm @ s A o
{1} '-§1Hr H
(2) w=iw
31 Ao B
(4) ofFElE
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151.

16,

153,

154,

“HLAAEE/Page 35

B S T v F fn o 998 w0 am |
Tt & 7

(1) hCG, hPL, Wreaa, Tafs

(2) hCG, hPL, YA, W

(8)  hCG, hPL, v, T, sifesfes
(4)  hOG, WARTH, WFE, mEreiis

e WEHT

(1) "t 5 vt wdl ® sEng =0 2 e s
% T wi TRt R

(2) ws IUDR |
(@) o= A o 6 owEm oW e b ove
gt = Tt &

4) o oy iy

FAR Yo = e il e R ah 2o
(1) W] UE T
(2) TEFTEE U TR

(3) W T g
i4) I v AT

WA UE YR (FIieee) § s e o

(1) TR § T, e #, wefis ape d
sy T E |

(2) TwEET W oaseEEl W wEel s a
THah A e § de d@m o,
EECE: e o ek i

(3 wEEE A o e f, s swee
T, = # |

() TRV § e e wafE gmope @
m_t-‘:"fl = :F'E::rl"'ﬂ' =I'?-.':'F-E'_H'T'I?.Hhr 1-1' A

Ater i 1 e o wEw g ,

161. Hormones secreted by the placenta to maintain
Pregnancy aps_
(1} hOCG, hPL, progestogens, pn:;]l‘éﬂ i

Mﬂ. hPL, progestogens, estTogens

1) hCG, hPL, estrogens, relaxin, axyj#ein
) hOG, progestogens, estrogens,

glunm;%&s
@ The v:-:-ntmm-.pljve"_ﬁ.ium;

locks estrogen receptors in the uterus.

preventing eggs from getting implanied.
(2) iz an IUTD.

‘_r[._,:__-:J,.-a".T:u}reae-:Eﬂ the concentration n@ and

provents ovulation in females,
{4} I8 a post-coital contraceptive.
e )Z
LA
_. B
The amnion of mammaliap embryo 5 derived
_ e TOMIEIICLACSAT
| from
L ectoderm and mesoderm

(2} mesoderm and trophohlast
13)  endoderm and mesoderm
(4] eetoderm and endoderm

154. The difference between spermiogenesis  and
spermintion is :
(1} In spermiogenesis spermatids are formed,

while in spermiation spermatozos are
formed,

(2)  In spermiogenesis spermatozoa from sertoli
cells: are released into the cavity of
seminiferous tubules, while in spermiation
spermatozon are formod

{3} In spermiogenesis spermatozoa are formed,
while in spermiation spermatids are
formid.

(4 n spermiogenesis spermatozea are formed,
while in spermiation spermatozoa are
released from sertoli cells into the cavity of
seminiferous tubules
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165, Ftien 0 & - fees s o s iy 185, Which  of the following options correctly
B o - ] TR : the lunge conditions in asthma and
3 L ripresents %
ey Wl ?ﬁfﬂ?ﬁw_ A emphysema, respectively |
(17 TEEEE § W, 6 96 1 el (1] nflammation of bronchicles

Diecrensod |
{9y vEEA HER W Al e |

(30 TEEEE 4 HmT B wfeem w=EE mEg o (2
Wit
(4) TaEE WAR A I T ]

respiratory surface

[ncreased Lrlj?gml{:ﬁ.' surface;
[Inflammation of bronchioles
i3} Increased number u,[/kmmhi{:lﬂﬂ. Increased

reapiratory surface -
o S e (47 Deecreased respjratory  surface;
? !:R Etrﬁn?;rq:r % ,,”_ﬁqﬁ H e i Inflammation mehinl:m

st o fom e faeedi © 8 aEf e @ =

By - 166. Match the items given in Column [ with those in
S Column 11 and select the correct option given
a7 [ @ Il b
A Fraerdl wE j, unf wfee v A from Column [ Codummn 1T
& &= a. Triouspid vabge Between left atrium
. and left ventricle
b, Reedfteme i e R wE o £l s i
R b ieuspad valy tween nig i
. ventricle and
e odeg wafrer i o wfEe wE EiA pulmonary artery
e & ot L c. Semilunar valve N Between right
8 b c 5 , atrium and right
(1 i : G (8] ventricle
L a b o
{2 i i iii - . ]
. s 1k 1 1 d
&3 a 1 i .
E . 12y 1. i1 il
{4 1 I 1 ’ r
’_J,;i-f’l:' iii i
157, =wn 1 8 9 1 w2l W e 1 6w # R W i , i

o G fm om e 0 O e fowen w1 9

157. Match the items given in Column [ with those in
AELE Column 1T and select the cerrect option given
Farrs | er s ) below :
a E’Iﬂ'ﬂ FHgaAA i Em:"-' — 3000 'ﬁ:I.Fﬁ_ Cﬂliumﬂ I CI'J'IH FriFL IJ
Tidal wolum T oS00 — 3000 ml.
b, moEE g il 1100- 1200 R, -y : o =
e napiratory Hes ce 1100 = mlL
wolume
e Tgams miEE iii. 500 - 650 fir =, & Taxpiratocy Hose . BO0 - 550 mL
HTHEA vilome
d sl smE v, 1000 - 1100 fiy . d.  Residual volufhe v, 1000 - 1100 mL
a h [ d a b o d
(i1} m i i i (1) _'I_;,] 1l i iv
(2] 1 v ii il 2y i Vg il il
3 m 1 v 1 i i i ii
- -
4y v ikl il i 4y 1w il i 1 L
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168, v | W &t wEl & = 11 F v ° e S0 | 188, Match the items given in Column I with those in

aﬂTﬁTﬁEWﬁﬂmmﬁ'-ﬁ#ﬂFTq;ﬂ-ﬂmm

Colomn [I and select the correct option given

i . balow
ey | N Cofwmn | Codurmn [T
2 xﬁﬁm’-ﬂ i w‘-l:'léi .'} iﬁm I ] A El:."l}DEUJ."i.EL .-fl.).. Aceamulisbion of urie
s ¥l | / acid in joints
) _ ; b,  Gout it. Mass of erystallized
b, TRZ ii. 7% | Giom @ & salte within the kidnoy
fowg

iii. T8 4 WEWEm

Fnal caleal

o

NI

d, Glomeralar v,

Inflammation in
glomerali

Presence of glucose in

nephritis urine
d. 7= a.._'ﬁsri’rrr iv. T3 H =[5 BN i . ; i
o b i d (1) il i iv i
(1) i ] v i (2] @ it i v
2y i i i iV (3 |k il 11 iv
(3 1 il (111 iv 1 iv __t__ 1 iii
4y iw i i

159, weq [ # &) m =5 w1 w11 o 52 @ fiem ifa

Match the ibems given in Column [ with those in
Column II and select the correct option given

helow :
e o el A A gt T W Colwmn [ Coluen 1T
Hifam ; fFunction) {Part of Excretory
FRE ey If Syeterm )
,r’amfrl I’-Jﬁqﬁrq' 7T FT ) i, Uirafiltrati + Henle's loop

a  wEgw REEE |

b, Concentration'

BTt O

Ureter

of wrine
b. W3 % HigW i, e.  Transport of Urinary bladder
uring
e. E W WfWER g, R
_ d. Storage of uri Malpighian
d. W3 = HIE iv. HendEft whv corpuscle
v. Wy gafen sfam Proximal
convoluted tubule
a i « d
: b [ d
(1) v v ii ili .
Yz ¥ B
(2) v v i fi I : .
2y w 1% 1 1l
(3 iv i i P/‘a(/ : G
v i ii i
4 v i iii o
4 iv i 1

CHLAA/EE/Pape 37

TR W i firn T | SPACE FOR ROUGH WORK

HndVE nglish




160, ™6 TS thgeE (RER) # frfinfgm 4 A
et w777 e ?
(1) HIEHE = T

(9w TR = e
TR T
4y FiemtfTg TeeEm

161, Tl @ Hrm ey ke -
(1) TCA & & TATEH qEHNEH & s § e
B R
{2) 1mﬁfﬁﬂﬂaﬁﬁm%:ﬁﬂzﬁgﬁmﬁm
gramet @1 5T fe NAD fera Tem R |
(2)  TengEeTaE i o
() il SR e
far) f ufa B B
162, T ¥ e g w2 8 7
(1) Wi i
gy fEe 3w v SER
(@) DNATE RNA

(4) T TEETER U RER

163, Brefefia #f # F98 wionfys w7 77 sxfiam
) aftfa & R 7

(1) T, TR, e
() wrdE, TEENE], T
i3 TlT:F'Eﬁ, ﬁ'm'ﬂ-l. ﬁ'ﬂﬂm
(q) g, e, e
164, mere e & s R
1y HmEE - 9E g
(g) FETeTEA TORER — LSRR
(9 TETEE — “fom erE
(4) wEedE EE - TR % AER
165, ¥gA § Tm@EEE UF mRNA H Ty ¥R TR

qﬂ%ﬁvm%ﬁfuﬁﬁﬂﬁﬁlrﬁiﬂhﬂiﬁfﬁﬁ
ST a1 =1 W k7

(1) = : 4 S
(2] TR '

(3) wEaely fius

(4) SR E

180, Which of the following events doea nod occur in

(1} Protein folding
(2 (Cleavage of signal papiide
(3% Proiein glveosvlation

Phospholipid synthesis

161. Which of these statements ia incorrect 7

1) Enzymes of TCA cyele ATk priezent  in
mitochondrial matrix.
i2) Glycolysis operatles as long as it is supplied

with NAD that can pick up hydrogen atoms.
(3) Glyeolysis oceurs in eytosal—"
[

‘_}V/D‘.{llia[iw: phosphorylation tokes place in
outer mitochondrial membrane. .4ty

162, Nissl bodies pre mainly pomposed of
Proteins and lipids

21 Nucleic acids and SER
(37 DMA and BENA
{4) Free ribosomes and RER

163. Which of the following terms degeribe human

dentition?

{1} Theeodont, Diphyedont, Homodont

{2) Pleurodont, Monophyodont, Homodont
¥" Thecodont, Diphyodont, Heterodont

{4y Pleurodont, Diphyodont, Hr:ilirir.dunt

164, Select the ificorrebt match :

{11 Lampbrigh ~ Diplotepe bivalents

chromosomas _____._I’..-Pp 5

(% Submetacentric - L-ah chromososmes
chromosomes ""ﬂw

i3 BEOMeE Rex chromosomes

I Paolytene — Oocytes of amphibians
Chromosomes

165, Many ribosomes may associate with a single
SRMA to form muoltiple copies of a polypeptide
H1|1:u|t.nnuuu5]y. Sueh astrings of ribosames are

permed ps.
\yﬁ:ﬁmmﬁ

(2 Plastidome
[d) Fu]].-‘hm:]r:l.l bodues
(4] MNuckeozome
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166. T & 3w % @R fowm fit frafafy e wer
Bt 2 2
(1
(2)
3)
(4)

167, w1 1 4 7 W @ 11 6 wd @ fre b
it = fou mu fowedt § @ @E fawew &1 ==
S

T 1 &=y 11

a. TYUGHAH WEEAT i WY 3w & faEe

b. @ rEEn ii. gedr wraEen

c. FguE iii. drafivg e
a b c

(1) i i i

2 i iii i

@) i iii ii

4) i i i

168. 398 ¥ AT YT HT 9 T 2 ?

(1) =TT

(2) TR

(8) wTEATHSE A

(4) IaEH

169. T% fiT % HIfET 59 #1 F9 AGGTATCGCAT 2 |
36 g1 ARREd mRNA %1 Geiftrd 39 &1 8 2

)
:@.‘ According to Hugo de Vries, the mechanism of
=" evolution is

(1
(2)
(3)

Multiple step mutations
Phenotypic variations
Saltation

Minor mutations

167. Match the items given in Column I with those in
Column II and select the correct option given

below :
Column I Column I
a. ' Proliferative Phase i., Breakdown of

endometrial
lining

b.  Secretory Pha x. Follicul 1ase
c. Menstruatio ii. Luteal Phase
a b c
(1) i il i
g i ois Tl
— —
@ i iii ii
(4) il i ii

168. All of the following are part of an operon except
sl il 555
(1) an operator”
an enhancer
(3)
(4)

169. AGGTATCGCAT is a sequence from the coding
strand of a gene. What will be the corresponding

sequenge of the transcribed mRNA ?
{d\MGUAUCGC{\U
(2) ACCGHAUGCGAU

structural genes

a promoter

(1) AGGUAUCGCAU einat o SR oY

(2) ACCUAUGCGAU od\

(3) UGGTUTCGCAT —— 99 ) uceroecear

(4) UCCAUAGCGUA Wi LTS A

1®. A woman has an X-linked condition on one of her

170. T & & T X AR § X e § | 7w T’R:E( X _chromosompes. " This chromosome can be

frd g B 2 )"\ inherited by )'i-( % e |

(1) Had Eﬁ?ﬁ q . (1) Only daughters

(2) had Sar-gifadi /At & (2) Only grandchildren

(3) ad g A (3) Only sons

(4) A v gt el A ]

‘Moth sons and daughters
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B # 8 ®R-Eh %a SR A |
T Ee e =i B

171

11 WA FiErET

oy T (TSN | TR
(@) e TR

(4) T sriwen

72, w1 A A kv e 1w e i

A 93 Boom Bwew § @4 ot fawen W oW

it
e | w7 0T

a, ETShEATEA i EHics i Ii.'-ilm

b, TENERER i, T g

e O i, i frnfafi
il b [

{1y il il i

oy 5 11 i

(31 1 i iii

4y 1 i1 i

ﬁﬂfﬁf@ﬂ&ﬂamﬁmtrmﬁmmmﬂﬁ
-37

173,

1) ufEm

(z) wigferew
3y fafrmmmm
(4) =R

174, ST Ol w5 § SFwan wgwg & wiks wE

171, Which of the following gastrie eolls indirectly

heln in ervthropoiesia 7
1] }T,_—pu £l

—

i1y Chief ealle
(21 Goblet cefle
i3y Mucous cells

ﬁ:‘;ﬂi}l.ﬂ.] rells

172. Mateh the items given in Column | with those in
Column I1 and select the correct option given

bielow :

Cedumn £ Column I

a.  Fibrinoge Damotic balance
b, Globuli .  Blood clotting
g Albumin i, Defence mechanism
B ] [
(1) i ii i
(2 i i i
@ i it i
,_pk”fil_ 1l i

178. Which

respiratory disorder ?
L L S

’

the following

of is an occupational

o —

(11  Anthracis
(21 Botulism
_Miliwnih
i4) Emphysema
174. Calejum is important 1n gkeletal muscle

contrackion- becauss ik
(1" hinds to troponin to remove the masking af

active sites on sctin for myozin.

(1) FrfE & e UEE S w6 o B TS .
y _H _m;- £ e » i (2} detpches the myvsin head from the actin
F g T & oEfE & T Flament.
- (2) e g H A y ¥ R ST AR i3} nelivates the myosin ATPase by binding to
(3 et wAndi @ dow 38 e == iL.
(4) uwiEs wim Gq o S A % A Ty i4) prevents the formation of bonds between
Fretior %t R | ; the myosin cross brigges and the actn
filament,
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175. F3% TR & Hﬁ.ﬂ #1 gram HitEm =W
qred 79 4 =i vE g g afeli £

(4B T|'|'T-"T-.'Fa“.'.|'5
(2w
(3 T
{4) afiteadte
176, Faftues s adl W @ e v s 8 0
(1) 4 e & Fm st =1 w@m ot §
(2) 7 TrEw F A F P oo = owwm e f
(3 w8 A oH | AR & e aseaie
uH w #
i4) T A UER H s W §
177. Fr=ferfes & & oa-8 we 5 sisiE 6 ggem g
T ¥ w8 7
i1} A 3w ws w A F oo & iR £
B
(2] et vAw Arees wikn w0 9w
i3 Teu T e
(4) e =i i
178. FierEd o |2 wR-m o= owadt 9 B 0
1y s
2y e
() e
4) fERE

179. FrieiiEn amgai § 4 $R8 w5 e 3 w0 o

175. Identify the wvertchrate group of animals
characterized by crop and gizzard in its digestive

:c:,-'rL-;:D_'LL__—

(1) Amphihia
A '-:'I £
(3} Reptilia
i4)  Dateichthyes

176, Ciliates differ from all ather protozoans in

(1)  using Nagella for l?%—l—l‘llrtiuu
2)  using pseudopodiyder capturing prey
(3} having a contra

r;_]_i:h varnole for removing
BYcaEs water
M\aiug P Ly pes of nucle

177. Which of the following features is used to identify
a male cockroach from a female cockroach 7

{1) Preasence of a bost shaped sternum on the
8" abdominal sogment
{2]  Forewings with darker tegmina

ML‘HEHEE of caudal gtyvles

4]  Presence of anal cerci

178. Which one

hasmestherm T

(1) Maocropuz

of these antmals i

(&1 Camelus

ﬁ.’:mfm.-!

(4} Psitfoculn

179. Which of the following animals does not undergo
metamaorphasiz 7

i1}  HEen Jo
: i Earthworm o> o
) . 2} Maotl
a [ L
3 e
_ I (3} Tunicaja-
(4) TR (4} Starfisk
180. Frsfemin 8 & #4 ofie e § 457 309 % | 190, Which of the following ofganisms are known as
FOOH AW AA B9 chief producers in the oceans ¥
(1) I (1} Dinoflagellates
(2) O i2) Cyanobacteria
id)  EETH vr',;l-r""ll_ﬁal-l.lmﬂ
(4)  gErEE i4)  Euglenoids
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